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Wechsel zwischen Parameter- und Normalform 

a) 

�:			4� − 3� + 
 + 1 = 0 

x := r  y := s  => z = -4r + 3s – 1 

�:			 ���
� = � 00−1� + � �
10−4� + � �

013� 

 

b) 

�:			� − 2� − 2
 + 4 = 0 

y := r  z := s  => x = 2r + 2s – 4 

�:			 ���
� = �−400 � + � �
210� + � �

201� 

 

c) 

�:			 ���
� = �110� + � �
012� + � �

211� 

x = 2s + 1 => s = x/2 – ½ => in Gleichung 2 einsetzen 

y = 1 + r + x/2 – ½ => r = -x/2 + y – ½ => beides in Gleichung 3 einsetzen 

z = (-x + 2y – 1) + (x/2 – ½) => x – 4y + 2z +3 = 0 

 

E:   x – 4y + 2z +3 = 0 

 

 


